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; The line tangent to the curve y g :cy+1 = ( at the pont
3 1is_ (%)

e [T s = (Z)

‘3. The area of the regi{;n lying inside the graphs of the circles
24+yl=1landz?+(y—1Y=1is _(A)

. Let I be the subset of R consisting of all £ such that § 2%
n=1

converges. Then I = (7T

. Let f:[0,i] = Rbea cuntmunus function, El.‘lld suppose that
f fz)dz == a;.udf 2f(z)dz = V3. Then
[ [ fla-ydyde= _(R) ;

[ 2f@ +y)dedy= _(8)

i<l

. The cylinder #? + 42 = 1 and the plane z + z = 1 meet in an
ellipse E. The parametric equations for the line tangent to E
at the point P(0,1,1)is (F)

. Let T’ be the boundary of the region
{(z,9)] 0€z<7 and 0<y < sinz},

traversed counterclockwise. Then the line integral
fyds +sinzdy = _ ()
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8. Let f(z} = [ sin(t?)dt. Then-

iy n°[f(v/7 + )+f(~/—*~*) 2f(vm)l = _(F)

K=+ 0

9. Let 2 be the region {(z,y)] 0 <z <land 0 <y <z} Then -

A _[[! (1 4 22 yi)ﬁfﬂ
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1. (94) Does the series i (sm 1_ sin ! ) converge?
' o 2n 2n+1 '
Give reasons for your answer.

{1

2. (94) Let f:[0,27] — R be a continuously differentiable
function. Show that

Uh f{z)cos n:rds:' < - [f‘(a:}|dz
for any positive integer n, and then conclude that

11'_’11%];]2’ f(z) cosnxdx = 0.

3. (124) Find the length of the shortest chord( % ) that is
normal to the parabola ¥ = z at one end of the chord.
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